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The principal Landau determinant 
is a computable subset of the         


-discriminant, whose definition is 
inspired by GKZ
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Definition. The principal Landau determinant of the diagram       with 
respect to the parameter space      is the defining polynomial       of 

PLDG(ℰ) = ⋃
Q⊂conv(A)

⋃
i∈𝕀(G,Q)1

∇(i)
G,Q(ℰ)

G
ℰ EG
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method = :num
+ numerical interpolation

1. Compute samples on the incidence variety as regular solutions to systems of polynomial 
equations. We pick up points on desired components + dominant components


2. Filter out such dominant points, and continue with the remaining samples


3. Divide the samples into groups corresponding to their incidence components


4. Deduce the degree of the projected components from the number of samples


5. Collect enough samples to find a unique interpolant
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9
∇χ(ℰ)Can we compute from the primary decomposition of an ideal in the Cox ring of Xconv(A) ?



Database 
coming 
soon at

Thank you!
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